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Abstract of the contribution:

This discussion paper aims to discuss a scenario when an IMS voice call and a CS call co-exist and then SRVCC handover is performed due to UE moving to a cell not supporting IMS voice call. The SRVCC handover in this scenario may lead to two anchor MSCs one handling original CS call and other for CS call resulted from SRVCC handover. This procedure how to handle the two anchor MSCs are yet not defined in the spec.
1. Problem Description

According to section 7 of the TS 23.221, the IMS voice call or CS domain call or CS SMS can co-exists at the same time as per the user preference or device setting. In this scenario following problem will happen.

After SRVCC HO there may exist two anchor MSCs for a UE. One is the anchor MSC for CS call (according to the TS) and other is the MSC server which is enhanced to support the SRVCC handover and this MSC server is different than anchor MSC. The current specification doesn’t define how to handle this scenario where two CS calls are controlled by different MSCs.
The two scenarios before and after SRVCC handover is shown below:
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Figure 1: IMS and CS call co-exist before SRVCC handover
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Figure 2: Two CS calls and two anchor MSC after SRVCC handover

2. Proposal
To solve the above scenario following possible solutions are provided.

UE based solution:

1. When a UE has IMS voice call ongoing and user initiates CS voice call, the UE doesn’t establish the CS voice call and shows error message to the user. Same principle applies when user initiates IMS call when CS call is ongoing.
2. When a UE has IMS voice call ongoing and user initiates CS voice call then the UE will release the IMS voice call and establishes the second call and vice versa.
Network based solution:
3. When a network has one type of call (e.g. IMS voice call) established and receives request to establish another type of call (e.g. CS call) then the network rejects the second call (e.g. CS call).
4. When a network gets request to establish second types of call (e.g. CS call) when the first type of call (e.g. CS call) is already ongoing then the network will release the first call(e.g. IMS voice call) and establish the second call(e.g. CS call).
5. A network and a UE establish both IMS voice call and CS call, when a UE moves to a cell not supporting IMS voice call then the network releases IMS call.
Note: In the above solution emergency call is always preserved.
3. Conclusion
It is proposed to consider the one of the above solution as given in section 3. Network based solution (solution 3 - solution 5) will be more appropriate solution as the network will decide which call need to drop based on the network capability.
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